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the artificial ripenung of banana

14, Which one of the I'-;)"u“iﬂg gﬂ.mpﬂmﬂ ﬁml"ln_.'.':d -

fruns 7 ¢ I
(8) Cytokinin “thylene :
& 2 7% £ 5 Su 3 e w3 'ﬁ&” T i sy o st dtar e D
(a) FEtearfefam  (b) wafaw & Chrehdy (d) argifam
IS. The enzyme that catalyses carbon dioxide fixation t, (-4 plants is
{a) RuBp ..jdﬂ PEP Carboxylnge &=
ic) 'l:._'.'n.rl'u]m-: anhvdrase @ “fh*-'-"i_':rdmll.lul-m-t i
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(a) RuBP ® PEP argiaritas
(c) T98fsa M=gvtayg W) Trrartfemey

16. Maximum solar energy is trapped by B «
 Lultivating crops

ia) Planting rees
(c) ‘Gi_!h‘uwing grasses. .

35 fsfio fed 7 ¥ 2y gaw @or fa

(a) To43 Far€w &m
(c) wa Gargz am

17. Which of the following element plays an important role in hiological nitrogen fixation 7
(d) Manganese

(a) Copper

Urowing algae in tanks
3y St e 3 ¢

) 5= gam o

(d) 25 fem il @arBzE &5

4 . (bY Molybdenum~ (&) Zinc
I hﬁﬁmﬁ@ﬁmﬁﬂéﬂﬂﬁwmmn@ﬁﬁ*
(d) RadraE

(a) aug (b) HEtE2AH
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I8. A plant hormone used for inducing morphogenesis in plant tissue culture is called :

= Cytokinin .
US'Z IcH amed E9F H

(a) FEtearfefas  (b) freafesn

known as:

(b) Gibberellins,,
2 HY 98 A3 foo3 orais & Tr9F &St 7t A7
(d) wrartfae wiAs

) Glycolysis-

(¢) Ethylene (d) Abscisic acid

(¢) FteriEs

(¢) HMS- pathway (d) Krebs cycle

19. Incomplete oxidau'i:;yucnu into pyruvic acid with several intermediate steps is

(a) TCA- pathway

F=aw T uetafes s

o wodl wiaAtEes fr feg wud

aeH Hge

3% fufuns fed fam & o Ao At 3 1
(a) TCA- pathway (b) I@EE@ERA  (¢) HMS- pathway (d) T8 AEES

20. How many ATP will be produced during the production of one molecule of acetyl CoA

from ane molecule of pyruvic acid 7
(a)”3 ATP {(b) 5ATP (c) BATP (d) 38 ATP
wifrs 2 fea AdfEt@s 3 CoA ? fem Voifals & @3ues 535
TH3 a3 ATP & G3ue J=ar
(c) 8ATP (d) 3B ATP

(a) 3 ATP (b) 5 ATP

21. Oxidative phosphorylation is the production of
(a) ATP in photosynthesis (b) NADPH in photosynthesis
g ATP in respiratiog— k- (d) NADH in respiration
fufint feg martafee eRedans & G3ue 395 A3 a= fitvea D ¢
(b) NADPH in photosynthesis

(a) ATP in photosynthesis
TP in respiration (d) NADH in respiration
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(n) Ethanediol 3 ot vt 3
Bakelite, 7% T f2 (€) Chioryl (d) Formaldehyde

(a) Ethanediol {h] Nolecyl k.
Accumulation of which of the “tules in the muscles occurs as @ resull «
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(a) Gl ) Glye
W e 35 ﬂ-;gu'

L) Lactic acid (d) Pyruvic acid
"3 fedt am e anas @ AR O
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(@ detA)  (0) (detAF

. - N vari, .
If X is & random variable Wi o “nce g2, then for any positive number k,

the Chebychev's ineq : (h) Pllx e A
(a) Fux—nlakﬂﬁ? (d) N, f"aka]aﬁ
k

Jog x ¥ Tdtees famer MO
Chebychev's &t
@ POX — pl 2 ko) € 33
© PUX-plsko) Sz
Let § be a convex subset of the:
function z = ¢;xy + €323,V (X2 X
value at 4
(a) the origin only (b) any point
He &5 S uds &
3 ffaq Stamie dams z=an "
REEIH ahvs § yug ager &t
(a) frge e (b) &t & o
Given a set of vectors {X;, Xz -
s+, Ay x) 1s called a convex 'L n
(a) 4,,43, ..., Ay =2 0and
{b} 4111-12, e .ilk Eﬂmd Y ]
(¢) VA and TiZ¥A =1

(h
D PUX ~ 4y > ko) 2

! ) feont feg et st
n i i

; w}":“‘im by lines in the plane. Then, a linear
®T€ ¢y |, ¢; are scalers, attains its optimum

‘% the ventices only (d) None of these
o B o9 wtew as fufgnr afenr 3
v{”‘l—x:_] € S where ¢, , ¢, Fa®T 75, feRe

(¢) frag dwardt (d4) feowt f&F &t &0t

}, 2 linear combination x = Ayxy + Azxz +
Lof the given vectors if

(d) None of these ‘
feq ¥eat o e (x.1, . RS 3, E3 BEE B8 x = Ay +Aoxa +
e, A % 3 103 32 ¥m2e © fEa@Rer v foo 7 3

(a) Ay Az o Ax 2 0and TiZiA
(b) Ay, 4z o WAx = 0and M
(c) VA7 and Tiz¥4 =1
(d) feast f&& a=t =t

) is a skew symmetric matrix, if

If a matrix A is symmeltric, then trg _
(a) A isa unit matrix. (b) Aisa diagm?l 1'mﬂ:1'1u‘.l:th
{c) A isa zero matrix. d A is a triangular matrix.
7 fea Afgam A mrfidt 3, 37 2 }[fgask.:wmrfﬂaﬁmﬂgﬁ-ﬁ
(a) A fég gfez Afgan 3 (b]ﬁ;féﬁ'ﬁﬂ“nﬁ“ﬁ
(c) A fez g Rfzam 3 . @ Aﬁafsﬁzﬂ'ﬁ:ﬁ“
If A is a square matrix of order 3, then deg (A djoint ) e
(a) det(A) (b) (det AY* (©) (de AY (d)
# A naEd 3 v ffa TTw e et (Adjoint A)
\ ' y (d) |
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5 22 fon T =% 503 1 Tr,_:____'“’[’“"m!fm
#?a m ST weT E;H#—t 3.- ._—:
(a) TsmaBERe  (b) ) 3= @ e
2. Which of the following fated | ‘o the waves in a string 7 h |
SR
Iz fofunt RS T FER nf ?trhzﬂdlm“‘:’““
(a) wstEme st () Hfam i
(c) &5 nim® mfos (d) 2’1""1-*‘-"'?"
3.  Example of non-polar - 1
(a) Water ib) H
(c) Sulphur dioxide id: D!;:il‘m:himc i
Fieedaiza & me-Ums T x¥: 8
(a) uat (b) TE SR wiRE
(c) F¥es Sienames (d) waRR
4. When due to f pe of 4C is IN
xi’:ﬂmfmnumﬂ_ ] ge of 4C 1s IN | the electric ficld at the charge of
(a) 1 NC (b) 4NIC (c) EN/C :
e 4C 2 Ffes To7 a3 20 IR = 1. T 2 3 D S et
(a) 1NIC b) 4NIC '3, 31 2 2 U S SRR e
el l.-_ | (c) 8N/IC (d) 16 NC
{ velocity of EM wave in | is
(:; Wt : (b) Increase with increase in .
el & 5 EM 22 = 8w B s
(a) f3 Fd3= m (RETimmTw

(c) fﬂvrﬂ%mﬂ )
6.  Velocity of wave in an i

(I} Zero fﬁ!&
(a) #ﬁ

(d) Sic]

r 15
(c) \foderate (d) Small

© catn (d) St

i
Hlm;fl.ﬂw | ey L = 2 Henry, the energy stored in an
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At 4 ) =
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(c) =
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15, The number of splitting levels.

['l-l-l 1|'l-|_|“h| !_h.
e) 3

(w1 (3 5 oR; (d) 4
2p nradtes fg feawn WIS (©
(a) 1 (b 2 D : (d) 4
16. If thi- :I:n..'tr::] ﬂf the B S from third orbit 10 second orbit, the
wavelength o ﬂﬂlfﬂd
(a) SR36 (h) : a8 (d) SR
a ?ﬁugwm f!E; ¥ ¥ wrgdle @ wie on ot fsam
(3) SR/36 (b) Jﬁ!!é y '©) Ri6 (d) SR
17. The pcnm-h.nnndutmlhﬂ mag L“““""“ oy :
(2) pgga 0% M SE (d) —u B
{a) u.B () pE © ~pE (d) -p.B
I8, Nmnhuul’pmﬂcluml ; f Uit cell i
%Mﬁ! mz@'ﬁeﬂ‘ﬁm = &r”; 4
(a) | (b) 2 [c) 3 (d) 4
19.  In a power supply diagram , ! K indicates a smooth de output ?
(a) Filter (b) Transior e} Rectifier (d) Regulator
UeE AUSET rﬁam-r#ﬂ CoEd de output TFFEE D
(a) femew (b) (c) WSefenm  (d) Jydem
20. The dc current Ihmughlﬁ fio  bridge rectifier equals ;

21.

(a) Half the dc load current (b) The load current

(€) Twice the dc load curreni (d) One-fourth the dc load currem
de Tz 73w wTeEE oora e i o B e

(a) WOdc B3 5dc ¥ - (b) BE FFE @

(€) de Bz ade @ da@ @ (d) dc 8 o792 & 1/14*2

Why 15 heat produced ina dio
(s) Due w vdu.em r
(b) Due 1o power rating o
(¢) Due to current passir
(d) Due to PN

ﬂlr&ﬁﬁtm
(8) l'ﬁiliwim-t_

) lﬂ'ﬁmﬁw 2
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47. ﬁ:lmmlmﬂnﬂﬂ"f () 136 et $
T ey id) 14¢

(a}) Hﬁrj?lzue’r b 3 f_-' :

Tﬁiﬂ:‘i S ey -

{a) 136) =t topg 3.6 Mev (d) 14 eV
48.  The characteristic impedance & ¢) Lfl:ll 10 the clectromagnetic wave is:

(a) Zero BT 5 Thn”"'"‘ d) None of these

L N oy 2 B

i : & ;

(a) 3 ®) fex m:1 "W (d) feast {9 &9t =

49.  In which of the following oscilk (b) ”I“"" Vanes with time 9

| Yamped oscillator
2 ::;I:'rlt of the n,.hnw:

lh'l SUR %
) feast feg gt =t
“Verberation time 9

(b) Frequency of the sound
[lﬂ__ Area of the wall

(a) Undamped oscillator
5:3) Forced oscillator

el wrdtezas @ o

(a) nE2uz nrdt®ee
(c) 2oRE mirAlBzg
50.  Which of the following does no
(a) Size of the auditorium

¢) Nature of the walls

the

\Cca ﬁwm 50T dawr ¢
(a) WEEamH = warg (b) wres & srdgraa
(c) Fherat o gamt (d) o3 & =g
DLOGY
1. In human body, the role ufﬁ]n' idigestion is 1o

\_-48) emulsify fats and f; te SOrption,
(b) act as coenzymes duri on of carbohydrates.
(e) stimulate pancreas to n ' Zymes.
(d) aid in the breakup l.'.lf Ino acids and their absarption,

HAYt Fate ffw ot F BT Uz feg
(tJEilﬁ?i‘ﬁ-W@!H? R o e o
(k) mime‘!ﬁaq?m i BHTETH @ S JanT
() feme uea & At aem ereas (UER) A §3fT FEw
quan@nmﬂw 8= ¥ uz f¥9 mofes aet
2. Trypsinogen is converted into a psin by the action of
(a) lecystokinin ' 51”.[]3:1 Secretin
Enterokinase Enterokinin
ZTENHIATE B AOaOH Zon E‘E%;t;?a fem fafeonr gnirer
(a) - (b) Feif () WeAtERE  (d) Wedfafas

ir in it due to
hen there 18 NO air in i
“uﬂ Presence of bony rings

(d) TurH*dP"“WF:ﬂF, Py g e gy
“ilﬂﬂeﬁwrﬁfﬁﬁﬂ
() 2 T :

3. The trachea in man does nc
ﬁm“ﬂm
of cartilagin

iﬁmﬂﬂ?

(a) ﬁ&mr
(c) m&.#ﬂ
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A ﬁ‘omra- Uﬁf%ﬁ (d) Gaégi Bodies
b : (b) ®TERAM

_ﬂth: fullnumg IS Not an (d) drmart ggta

--":'.fu}i 0SIT (b) Try Ptophan M aming acid ? |
Wﬁa?*mq'gm ﬂﬁa;” Fh:nylulunm: Mﬁm
= ® T A (&) St

I structure of protein is Stabilized by
) Hy " "" (b) Peptide bonds
| . : ldi‘-‘ bonds (d) Covalent bonds
i % He9aud Rigg 79 } owrgr
gigd (b) UGuefes aew

PHBEEE giEw (d) w? HET
e hack ﬂow of faecal matter in the Iurgc nt is prevented by the presence of
i cter of 0ddi lleo-caecal valve
. .P. aotor {d} ﬁmcl-n:s::ghngulsp}unctcr

25w yeroy ¢ fued @ f e gnirr
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11, Smack is a drug obtained I
‘4] Latex of Papaver som”
(€) Leaves of Canmabis S8V

(3) Papaver somniferum T B

(¢) Cannabis sativa € 43

12.  How many of the following !
I.  All the four layers arc 5%
alimentary canal.

——
. R P Ervthroxylem coca
T gy oF

- | s OoF Daturg

| By
' “hnu‘ o I""sh!lum of alimentary canal ?
”"“”mml n differemt parts of the

lin
& Bobley cells tha

2. Mucosal epithelium has mi .ﬁ o vip t help in lubrication.

3. Mucosa fm:mrpuh Ing Lin *mall and large intestine.

4. Mucosa forms small finger § "a”""d Xl in small and large intestine.

(a) | b 2 2 3 (d) 4

5 fefimrt 55 f3 fars a0 'Pﬁmmm?ﬁ

L’i?ﬂﬂ'?ﬁam%ﬁ E"“’Twmmwmlm
Adnit) 7% | .

2. Mucosal epithelium &% | VAT en w9 on % mudtaws o
Aofes aee 75| 3 :

RS 2 iy 2  feomg fquz == T

3. Mucosa 827 ni3 33t nTE
%Eﬁ”ﬂﬁ*"rm’"ﬂraﬁﬁ

4. Mucosa 22t m3 <t wiF

fe=t afoe o
(a) 1 ) 2 (c) 3 (d) 4
13.  Which of the following function: fried out by Semi-circular canals in internal ear ?
(a) Hearing 4
(b) Transmission of sound vibr ) cochlea
(o7 Balance of body '
(d) Balance of pressure on ei the ear drum

mmﬁ#mm g d5 e ovd wiegal an 9e JFT A oY

(a) AEeTEY
(b) Ta@y ¥ oAt dear &

(c) Fets & A3ma _
(d) @5 2 594 € 8 UR T
14.  The link between the tongue | ris
(a) Labial frenulum % | Lingual frenulum
:g‘mimmi 2 (d) Lingual papilla
ﬂ}m" . | sual trenulum
terminalis (b} Lingud
(c) 4) ngualpapi"ﬂ
Seles " i ‘

-
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ssive character carried by ¥ ¢ e

L character carried by v

Haet fig

(d) Oleic acid

Linoleic acid Imitic acid ~ (¢) Syed

wfs 9 16 3955 yg e

--:-.- (b) Palmitic acid (c) Stearicacid  (d) Oleic acid
‘Relaxin is a hormone produced by )

Ly - - ?w
FegfEs ffa gans J | e
2rfer (b) WIHR (¢) fu
0 genes A & B are 10 map units apart. A pa

genes AB/ab was test crossed and 200 individuals |
Ny L 3

(d) Adrenal gland

= (d) WEIES BT
ich is heterozygous w.r.t. both
died. F|-ratio is
(d) None of these
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o wiftoas i3 famr

(d) feont feF adt adt
y, it indicates deficiency of which

(c) Piuitary
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PelEation F
' ﬂﬁ}stﬁ:“ A & finar (d) A% Sfanr
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- E'f Spindle shaped

(€) wifsofyz (d) AfiEs € niEaw @
(¢) Respiration  (d) Reproduction

(c) A (d) Yvas
Synthetically Active Radiation (PAR) in the incident

21.  RNA interference be
(a) Luﬂpmliw
) Cell du
RNA # em
fay HE ?HE =X
23, Pyramid ufnmnhﬂ'h" ,

(a) Mway: ny

I lar
(a) oWmt Gmzr  (b) @
24, Gregn glands are associaled

Excretion (b) Dnge
e ey v ot

A

(a) Ugn (b) © ;
25. What is the percentage of

solar radiation?
(a) 100% 0% . . le) 1-5% (d) 2-10%
Incident Fevit foraat g SCBMIES T3 3 fafanmris Sdtems (PAR) € ytRg 398 37
(a) 100% (b) 50 (c) 1-5% (d) 2-10%

/c A used as an immuno suppressive agent in organ —

26. The bioactive molecule Cyel
plant patients, is produe
Trichoderma polvspory

{r.'} Aspergillus niger _
mal-2TAUSTE € Hahw fPa |
FZ Cyclosporin A, EnraT fIg
() Trichoderma polvspo
(c) Aspergillus niger

(b) Saccharomyces cerevisiae

(d) Acerobacter aceti
nunosuppressive BHZ @0 @93 Ale HiEEWaies
A J&:

(b) Saccharomyces cerevisiae

(d) Acetobacter aceti

he genes crylAc and crylIAb control the

27.  The protein products encoded b
liworm (b) Rou (¢) Moth (d) Fruit fly
cw!.lcandcr}'ll&hiﬂ'ﬁ* ﬁwﬁﬂmﬁﬁﬁa’ﬂﬂﬁl
(a) Bollworm (b) F - (¢) Moth (d) Fruit fly
28. In ecological succession from pigneer to climax stage, the biomass shall
Increase

() Decrease

(c) Increase and then dec - _ (d) Show no change

wfewtng 3 finda-nerer @ ugmy Ja 73<afEd succession {89, Tfe®m
i b) =0ar

(a) uigar (
(c) Far w3 fag wWear (d) ET EEE AT fewrfer
29. The process of evolution of different species in a given geographical area starting from
- one point and literally radiating to otk :rawim}iiﬂ“ﬁ
{IJ Adaplive convergence Adaptive radiation
Natural selection (d) Convergent evolution
I gafsa 439 fée & W%Mﬂqﬁhﬁﬁ@aﬁg?ﬁ
Eﬂm?m%m&a'éa‘% Bt () fém E e faor A Y
(a) BT | (b) nEgS ISEHE
(¢) geast gi il (d) FBETIRE evolution
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Trachea i.e wind pipe diviges %

- (a) Fifth cervical Vertebrg ° the leyvel of - &tica

ifth mum;;:'tﬂ:bra (b) Foul i:r..'._i;«: vertebra
i UTEhy fag (d) goypels"
(8) U= cervical v o 3 Fer :
© ek ertebra p _pic vertebra
) Uwe OTACIC vertebry (b) TElEE ..a] vertebra
Which of the follow; (d) AR 5=
Ekiithine cycle 7 wing waste Products are rerm ed fre the blood in liver by the

+a and uric acid

(8) Urea and carbon digyide :
:,i_-_ md urea

thﬁEﬁquP dioxide and ammonia o

(d) AmEORT > BT T ey o

5 %hﬁ@@‘ﬂwmmnhmé sqd B e @ &Y 3 dfenr wter
(8) TIM wd argas FEWERTEE by sl R ERIC L QT

(¢) FTEATEranEs g ) i ;

™2 WA (d) il 3 G
&e/fym clinical application of gene therapy oyer g deyear-old girl was for
Adenosine deaminase deficiency ) Al gsine deficiency

(¢) Growth deficiency (d) \ depine deficiency

Ais Bt & ufodt adtdtas sustans fig 4 B e oo Be R aud A/

(a) Adenosine deaminase deficiency (b) Adenosine ¥ ure

33. Which of the following chambers of the heart has ghe thickest muscular wall ?
a) Left atrium (b) Right atrium (cy Leftventricle (d) Right ventricle
2 o8 fo3 ¥t T fam & et s OIS 9t O
(a) HE" atrium (b) HAT atrium (c) darweatricle (d) HF" ventricle

34. Enzymes needed to polymerise glucose into starch are present in
(a) Amyloplast (b) Mitochondria (c) G odies (d) Elaioplast

Mmyluplast (b) Mitochondria (c) Golgibodies (d) Elaioplast
15, Which is the mode of reproduction in amoeba ? _
" (a) Binary fission and multiple fission (b) Binary fission and Conjugation
(¢) Binary fission only (d) Multip fission only
wiitar ¥ uFas o Idtar fagar 37 B’
\.(afﬁmry fission »= multiple fission (b) Wﬁssim and Conjugation
(c) Binary fission fRET (d) Multiple fission fage
6. Which bacteria is used in the production of insuﬁxnmic engineering 7
*  (a) Saccharomyces EE B
| ' li Mycabacre .
__e cherichia co s & GIUER. , ﬁﬁw-{ﬂ'gﬁﬁ

- wEd
A . (b) Rhizobium
(© Eherichiacol O

Ly
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| 5
- o Mpeg
‘ MO 3 river iis BOD (Biochemical Oxygen

37. When a huge '
Demand) will
(a) Slightly decrea

,_(e)Aricrease
AT fteaw & ffa =

i
. ( 'I R"’mmn unchanged
E = d) [JE”EM

e b

9 gfenr g § 3 fERE BOD

(Biochemical 2l )
(a) &=F fadt ‘ ©) 3 vt = Fur
(c) =oat ) ) wig

. lﬁaﬁ'ﬂn

5N ende -
\ocrine pland afier ovalation 7

) o = el
. orpus albicans (d)~Corpus luteum
T iy > srre g SEadE T8 ¢

38.  Which part of ovary in mi
(a) Graafian follicle (b) 3
gZUS nigan feg HET
& gge & p
{a) Graafian follicle (b) SO

39. Position of spermatheca in'

') Corpus albicans (d) Corpus luteum

#HIS I the segment

T A 6789 (B S ) 789,10 (d) 4,5.6.7
Tast ¥ 13w FETEH "R fe et
(.} 61‘?'&9 5. “:_I ?.3‘9.1 0 {dl 41-51-611

mMmune disease of neuromuscular junction 7

(b) Osteoarthritis

__{d) Muscular dystrophy -
0 T 75 fafimt 45 faoz 37 '
(b) Osteoarthritis

(d) Muscular dystrophy

f are caused by the release of which one of the

40. Which of the following is
(a) Rheumatoid arthritis

%ﬁ e € M
(a) Rheumatoid @izl
{c) Myasthenia gravis
41. Inflammatory responses |
“ following by mast ¢
(a) Antibodies

(c) Interferons (d) Antigens
& T JTEt a2 WE € a9a af ge Ua |

(¢} Interferons (d) Antigens

crop vield by causing infection especially in

F (b) Temperate climates
(c) Arctic climates (d) Desert climates
02 FaHH & = 7%, WA 398 B9 € &9 faud HAH

ropi N B) (c) Arctic FRH  (d)
43 The study of an individy iion i remionto 8 VEREREECREEE
. E necology -'
o & s e | (c) Sy it ferm & wienr 7 §

P
{b] ,ﬂ,ul:l:iﬂﬂ'ﬂﬂ
(d) Phytosociology
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